Operations with Vigesimal Numbers (C)

Calculate each answer.

DAABy 7D20)43FGB520 HC769
+ 41199 X 149
HH329 DI159 IA5))C4AC95A

X GDog — 3C6399
BE6Fy 64B89 53GA9
— 5EEA20 X EI20 + GE2320
121EF9 78359 B5C1yg
— 2FA39 X BGoy + HIIby,
GHa)G0522A9) DE573 I96Fy
— 620J9g — C2B9y

83CIy

— 31CAy

20AJ9g
X 5A2()

GJDEs

X GIgg

B69Ay,

X DGgg

BDAJo

X 299
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Operations with Vigesimal Numbers (C) Answers

DAABs

+ 4119y

HBCOs

HH32,

X GDgg

EH6CC640

BE6Fy

— BEEAy

5JC590

121EF

— 2FA3s

J64Cy

J02A9

GHy)GO52249)

Calculate each answer.

AJ154,

7Dy )43FGB5y

DI15.

— 3C639

A5F25

64B8y
X Ely

4CG1H4o

783599

X BGoy

478670

DE574

— 620J9

7C489

HC769

X 1420

112GF4s

D493y

IAQ())C4C95A20

53GAy

+ GE2399

11HIDs

B5C14

+ HIIbyg

194464

I96Fy

— C2B9y

66F 69

83CIy

— 31CAy

52084

20AJy
X 5Agg

B304A

GJDEy
X GIgg

E70DACo

B69Ay

X DGgg

7G5720

BDAJog

X 299

18C3GB2yg
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